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                                              General Instructions :    
1- lHkh Á’u vfuok;Z gSaA  

All questions are compulsory. 
2- bl Á’ui= esa 30 Á’u pkj [k.Mksa A, B, C vkSj D esa foHkkftr gSaA [k.M 

A esa 10 Á’u ÁR;sd 1 vad dk] [k.M B esa 5 Á’u ÁR;sd 2 vadksa 
dk] [k.M C  esa 10 Á’u ÁR;sd 3 vadksa dk rFkk [k.M  D esa 5 Á’u 
ÁR;sd 6 vadksa dk gSA  

This question paper consists of 30 questions divided into four sections A, B, C 

and D. Section A contains 10 questions of 1 mark each, Section B contains 5 

questions of 2 marks each, Section C contains 10 questions of 3 marks each 

and Section D contains 5 questions of 6 marks each. 

 
3- jpuk ds mÙkj esa dsoy vadu nhft,A    

Only sketches are to be given in the answers of construction. 
 

4- Á’uksa ds mÙkj Á’uksa ds lkFk fn, x, funsZ’k ds vkyksd esa gh nhft,A   
Answers of the questions must be in the context of the instructions given 

therein. 
5- lHkh jQ dk;Z Á’u lg mÙkj iqfLrdk ds var esa fn, i`"Bksa ij gh 

dhft,] vU;= dgha ughaA  
Do all rough work only on the last pages of the question-cum answer booklet 

and nowhere else. 

[k.M&[k.M&[k.M&[k.M& A        
Á’u la[;k 1 ls 10 rd ÁR;sd 01 vad dk gSA 

SECTION- A 

Question Numbers 1 to 10 carry 01 mark each. 
    
1111---- 156 dks vHkkT; xq.ku[kaMksa ds xq.kuQy ds :i esa O;Dr dhft,A     

Express 156 as a product of its Prime factors. 
    

2- fdlh cgqin p(x) ds fy,] y=p(x) ds xzkQ ls] p(x) ds 'kwU;dksa dh 
la[;k Kkr dhft,A  
For some polynomials p(x), find the number of zeroes of p(x) from the Graph 

of y=p(x). 
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3- tk¡p dhft, fd x(2x+3)=x2+1  ,d f}?kkr lehdj.k gS ;k ughaA  
Check whether x(2x+3)=x2+1  is a quadratic equation or not. 
 

4- eku fudkfy, ¼ Evaluate½ % 
0 0Cos 48 Sin 42−  

 
5- lekarj Js.kh : -5,-1,3,7………. ds fy, lkoZvarj Kkr dhft, % 

Write the common difference of an A.P : -5,-1,3,7………. 
 

6- ;fn ,d o`Ùk dk ifjeki vkSj {ks=Qy la[;kRed :i ls cjkcj gS rks 
ml o`Ùk dh f=T;k Kkr dhft,A  
If the perimeter and the area of a circle are numerically equal. Then find the 

radius of the circle. 
 

7- nks le:i f=Hkqtksa dh Hkqtk,¡ 4:9  ds vuqikr esa gSa] bu f=Hkqtksa ds 
{ks=Qyksa dk vuqikr D;k gksxk\ 
Sides of two similar triangles are in the ratio 4:9. What will be the ratio of 

Area of these triangles.                                                     
 

8- o`Ùk dks nks fcUnqvksa ij ÁfrPNsn djus okyh js[kk dks D;k dgrs gSa &   
A line intersecting a circle in two points, what is called - 
 

9- fjDr LFkkuksa dh iwÆr dhft, ¼ Fill in the blanks½ 
fdlh ?kVuk dh ÁkfFkdrk ---------------- ls cM+h ;k mlds cjkcj gksrh gS 
rFkk ------------------- ls NksVh ;k mlds cjkcj gksrh gSA  

The probability of an event is greater than or equal to ……….. and less than 

or equal to ………….. . 
 

10- lap;h ckjackjrk rFkk oxZ varjky ds fuEu lhek ds chp [khaph xÃ 
vkys[k dk D;k uke gS\ 
What is the name of the graph between comulative frequency and lower limits 

of class intervals ?         

 

[k.M&[k.M&[k.M&[k.M& B        
Á’u la[;k 11 ls 15 rd ÁR;sd 02 vadksa dk gSA 

SECTION- B 

Question Numbers 11 to 15 carry 02 marks each. 
      

11- vHkkT; xq.ku[k.M fof/k }kjk 96 vkSj 404 dk HCF  Kkr dhft,A  
Find HCF of 96 and 404 by the prime factorization method. 
 

12- ,d f}?kkr cgqin Kkr dhft,] ftlds 'kwU;dksa ds ;ksx rFkk xq.kuQy 
Øe’k% 1@4 ,oa &1 gSA  
Find a quadratic polynomial in which the sum and product of its zeroes are 1/4 

and -1 respectively.                                T 

   

13- vkÑfr esa 
QR QT

QS PR
=   rFkk 1 2∠ = ∠  gSA                                  P             

n’kkZb, fd PQS TQR� ∼�   gSA 

In fig. 
QR QT

QS PR
= and 1 2∠ = ∠  show that PQS TQR� ∼� .                            1           2 

                Q            S       R 



                                 
14- ABC�  esa ftldk dks.k B ledks.k gS AB=24cm vkSj BC=7cm gS rks 

cosC Kkr dhft,A                 A 
In  ABC�   right angled at B, 

AB=24cm, BC=7cm, then                           24cm 

determine cosC . 

          B                              C 

         7cm 
 

15- fl) dhft, fd fdlh o`Ùk ds fdlh O;kl ds fljksa ij [khaph xÃ Li’kZ 
js[kk,¡ lekarj gksrh gaSA  
Prove that the tangents drawn at the ends of a diameter of a circle are parallel.                                

 

[k.M&[k.M&[k.M&[k.M& C        
Á’u la[;k 16 ls 25 rd ÁR;sd 03 vadksa dk gSA 
 

SECTION- C 

Question Numbers 16 to 25 carry 03 marks each. 
 

16- n'kkZb, fd ÁR;sd /kukRed le iw.kkZad 2q ds :i dk gksrk gS rFkk 
ÁR;sd /kukRed fo"ke iw.kkZad 2q+1 ds :i dk gksrk gS tgk¡ q dksÃ 
iw.kkZad gSA  
Show that every positive even integer is of the from 2q, and that every 

positive odd integer is the form 2q+1, where q is some integer.  

      vFkok (OR) 

n’kkZb, fd 5 3−   ,d vifjes; la[;k gSA  
Prove that 5 3−  is an irrational number.     
 

17- gy dhft, (Solve) : 

  

 x – y = 3    6
3 2

x y
+ =   

 
18- xzkQh; fof/k }kjk gy dhft, % 

(Solve by Graphical Method) 

    x = y-1,    3x + 2y = 12 
 

19- 10 vkSj 250 ds chp esa 4 ds fdrus xq.kt gSa\ 
How many multiples of 4 lie between 10 and 250 

 

     vFkok (OR) 

fdlh A.P ds ÁFke vkSj vafre in Øe’k% 17 vkSj 350 gSaA ;fn lkoZ 
varj 9 gS rks blesa fdrus in gSa vkSj budk ;ksx D;k gS\ 
The first and last term of an AP are 17 and 350 respectively. If the common 

difference is 9, how many terms are there and what is their sum ? 
 

20- fl) dhft, (Prove that) : 
 

    
Cos Cos 1

Cos Cos 1

CotA A ecA

CotA A ecA

− −
=

+ +
 

 



21- x vkSj y esa ,d laca/k Kkr dhft,] rkfd fcanq ¼ x, y½ fcanqvksa ¼7]1½ vkSj 
¼3]5½ ls lenwjLFk gksA  
Find a relation between x and y such that the point (x, y) is equidistant from 

the points (7, 1) and (3, 5). 
 

22- fcanqvksa ¼&3] 10½ vkSj ¼6] &8½ dks tksM+us okys js[kk[kaM dks fcanq    
¼&1] 6½ fdl vuqikr esa foHkkftr djrk gSA  
Find the ratio in which the line segment joining the points (-3, 10) and (6, -8) 

is divided by (-1, 6).  

      vFkok (OR) 

;fn A(-5, 7), B(-4, -5), C(-1, -6)  vkSj D(4, 5) ,d prqHkqZt ABCD ds 'kh"kZ 
gSa rks bl prqHkqZt dk {ks=Qy Kkr dhft,A  
If A(-5, 7), B(-4, -5), C(-1, -6)  and D(4, 5) are the vertices of a quadrilateral, 

Find the area of the quadrilateral ABCD.  
 

23- vk/kkj 8cm rFkk Å¡pkÃ 4 cm ds ,d lef}ckgq f=Hkqt dh jpuk dhft, 
vkSj fQj ,d vU; f=Hkqt dh jpuk dhft, ftldh Hkqtk,¡ bl lef}ckgq 
f=Hkqt dh laxr Hkqtkvksa dh 1½ xquh gksaA  
Construct an isosceles triangle whose base is 8 cm and altitude 4 cm and then 

another triangle whose sides are 1½ time the corresponding sides of isosceles 

triangle.  

         vFkok (OR) 

5 cm f=T;k dk ,d o`Ùk [khafp,A dsUæ ls 8 cm nwj fLFkr ,d fcanq ls 
o`Ùk ij Li’kZ js[kk ;qXe dh jpuk dhft,A  
Draw a circle of radius 5 cm. From a point 8 cm away from its centre, 

construct the pair of tangents to the circle. 
 

24- ,d cDls esa 3 uhys] 2 lQsn vkSj 4 yky daps gSaA ;fn cDls esa ls 
,d dapk ;kn`PN;k fudkyk tkrk gS rks bldh D;k ÁkfFkdrk gS fd og 
dapk ¼i½ lQsn gS\ ¼ii½ uhyk gS\ ¼iii½ yky gS\  
A box contains 3 blue, 2 white and 4  red marbles. If a marble is drawn at 

random from the box, what is the probability that it will be (i) white ?  

(ii) blue ?  (iii) red ?  
 

25- f=T;k 21cm. okys o`Ùk dk pki dsUæ ij 600 dk dks.k varfjr djrk 
gSA Kkr dhft, % 
¼i½ pki dh yackÃ    ¼ii½ pki }kjk cuk, x, f=T;[kaM dk {ks=Qy 
In a circle of radius 21 cm, an arc subtends an angle of 600 at the centre. Find 

(i) the length of the arc          (ii) area of the sector formed by the arc. 

     vFkok (OR) 

Hkqtk 4 cm. okys ,d oxZ ds ÁR;sd dksus ls 1 cm. f=T;k okys o`Ùk dk 
,d prqFkkZa’k dkVk x;k gS rFkk chp esa 2 cm. O;kl dk ,d o`Ùk Hkh dkVk 
x;k gS tSlk fd vkÑfr esa n’kkZ;k x;k gSA oxZ ds 'ks"k Hkkx dk 
{ks=Qy Kkr dhft,A  
From each corner of a square of side 4cm a quadrant of a circle of radius 1 cm 

is cut and also a circle of diameter 2cm is cut as shown in fig. Find the area of 

the remaining portion of the square.                           A                          B 
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[k.M&[k.M&[k.M&[k.M& D    

Á’u la[;k 26 ls 30 rd ÁR;sd 06 vadksa dk gSA 
 

SECTION- D 

Question Numbers 26 to 30 carry 06 marks each. 
 

26- f}?kkr lehdj.k 3x2-5x+2=0 ds ewy] ;fn mudk vfLrRo gks rks f}?kkrh 
lw= dk mi;ksx djds Kkr dhft,A  
Find the root of the quadratic equation 3x2-5x+2=0, if they exist, using the 

quadratic formula.  

     vFkok (OR) 

nks ,sls Øekxr fo"ke /kukRed iw.kkZad Kkr dhft, ftuds oxksZa dk ;ksx 
290 gksA   
Find two consecutive odd positive integers, sum of whose square is 290. 
 

27- ,d isMLVy ds f’k[kj ij ,d 1.6 m Å¡ph ewÆr yxh gSA Hkwfe ds ,d 
fcanq ls ewÆr ds f’k[kj dk mUu;u dks.k 600 gS vkSj mlh fcanq ls isMLVy 
ds f’k[kj dk mUu;u dks.k 450 gSA isMLVy dh Å¡pkÃ Kkr dhft,A  
A Statue, 1.6m tall, stands on the top of a pedestal. From a point on the 

ground, the angle of elevations of the top of the statue is 600 and from the 

same point the angle of elevations of the top of the pedestal is 450. Find the 

height of the pedestal. 

     vFkok (OR) 

7m  Å¡ps Hkou ds f’k[kj ls ,d dscy VkWoj ds f’k[kj dk mUu;u dks.k 
600  gS vkSj blds ikn dk voueu dks.k 450  gSA VkWoj dh Å¡pkÃ Kkr 
dhft,A  
From the top of a 7m high building, the angle of elevation of the top of a cable 

tower is 600 and the angle of depression of its foot is 450, Determine the 

height of the tower.     
 

28- fl) dhft,] nks le:i f=Hkqtksa ds {ks=Qyksa dk vuqikr budh laxr 
Hkqtkvksa ds vuqikr ds oxZ ds cjkcj gksrk gSA  
Prove that, the ratio of the areas of two similar triangles is equal to the square 

of the ratio of their corresponding sides. 
 

29- ,d f[kykSuk f=T;k 3.5cm okys ,d 'kadq ds vkdkj dk gS tks mlh f=T;k 
okys ,d v/kZxksys ij v/;kjksfir gSA bl f[kykSus dh laiw.kZ Å¡pkÃ 15.5cm 
gSA bl f[kykSus dk laiw.kZ i`"Bh; {ks=Qy Kkr dhft,A  
A toy is in the form of a cone of radius 3.5cm mounted on a hemisphere of same 

radius. The total height of the toy is 15.5 cm. Find the total surface area of the 

toy. 

vFkok (OR) 

/kkrq dh pknj ls cuk vkSj Åij ls [kqyk ,d cÙkZu ds ,d fNUud ds 
vkdkj dk gS ftldh Å¡pkÃ 16cm gS rFkk fupys vkSj Åijh fljksa dh 
f=T;k,¡ Øe’k% 8cm vkSj 20cm gSaA 40 :0 Áfr yhVj dh nj ls] bl 
cÙkZu dks iwjk Hkj ldus okys nw/k dk ewY; Kkr dhft,A     
A container, opened from the top and made up of metal sheet, is in the form of 

a frustum of a cone of height 16 cm with radii of its lower and upper ends as  8 

cm and 20 cm respectively. Find the cost of the milk which can completely fill 

the container, at the rate of 40 per litre. 



 
30- fn, x, vk¡dM+ksa ls ek/; Kkr dhft, ¼Find the mean of given data½% 

 
oxZ 

vUrjky 
¼Class 

interval½ 

0&2 2&4 4&6 6&8 8&10 10&12 12&14 

ckjackjrk 
¼Frequency½ 

1 2 1 5 6 2 3 

 
     vFkok (OR) 

 

fn, x, vk¡dM+ksa ls ek/;d Kkr dhft, ¼Find the median of given data½% 
  
oxZ varjky 

Class 

Interval 

0&10 10&20 20&30 30&40 40&50 50&60 

ckjackjrk  

Frequency 
 

5 8 20 15 7 5 

 
    

 

 

 

 

 

 

 

 

      
    


